Arithmetic ~ Friday (Y6)

1. 142 x5 = 10.5.241 x5 =

2. b7-09-= 11. 3978 < 18 =

3. 208 + 500 = 12. 549 x 32 =

4. 7 x90 = 13. 312,227 - 87,653 =

B. 7x3x6-= 14. 5208 = 8 =

6. 809.3 =100 = 15.9 x 3% =

7. 2+%+ 3= 16.2/9+5 =

8. = 82,000 +9014 |17.2919+7 =

9. 2-0.22 = 18. 43% of 420 =
Arithmetic ~ Friday (Y5)

1. 142 x5 = 10.1.241 x5 =

2. 5.7-09= 11. 3993 -6 =

3. 208 + 500 = 12.49 x 32 =

4. 7 x90 = 13. 312,227 - 87,653 =

5. 7x3x6-= 14. 5208 - 8 =

6. 809.3 =100 = 15. 9 x 3% =

7. ++3+3= 16.2/9+2 =

8. = 80,000 + 9014 |17.2919+7 =

9. 2-0.22 = 18. 40% of 420 =




